

KATANA RACING INC
 DBA. Wholesale Tire Distributor (WTD)
 2875 Pomona Blvd., Pomona CA 91768
 P: 562 340 6252
 F: 562 677 3956

Commercial Invoice
 Invoice Date Invoice No.
 02/10/26 202607536

CONSIGNEE Blue Logistics Services sarl
 Patriarche Meouchy Street Number# 4,
 Kahaleh Bldg# 44, 2nd Floor, Horch Tabet
 Sin El Fil – Lebanon VAT NBR# 3369083-601
 Mobile : +961 3 24 24 12
 E-mail: riad.abdou@bluelogistics-lb.com

SOLD Baitamani Trading Company
 To TABARBOOR, SPORT CITY HIGH WAY,
 BUILDING NO 201, AMMAN, JORDAN
 Email:shadi@baitamani.com
 Number:+971 50 431 4061

PO NUMBER: CC10328

Item#	Size	S/L	Pattern	BRAND	Qty-Ord	Qty-Shp	Price (USD)	Net (USD)
AEP010	225/60R17	99V	ECO PRO A/S	ARROYO	30	30	\$32.54	\$976.20
AEP011	175/65R14	82H	ECO PRO A/S	ARROYO	12	12	\$18.53	\$222.36
AEP013	195/70R14	91H	ECO PRO A/S	ARROYO	10	10	\$24.70	\$247.00
AEP019	235/55ZR18	104W	ECO PRO H/T	ARROYO	24	24	\$38.95	\$934.80
AEP020	235/60R18	107V	ECO PRO H/T	ARROYO	60	60	\$36.50	\$2,190.00
AEP023	275/65R18	116H	ECO PRO H/T	ARROYO	4	4	\$52.63	\$210.52
AEP025	235/75R15	109T	ECO PRO H/T	ARROYO	12	12	\$41.04	\$492.48
AEP034	245/65R17	107H	ECO PRO H/T	ARROYO	12	12	\$40.85	\$490.20
AEP036	265/70R17	115H	ECO PRO H/T	ARROYO	4	4	\$48.45	\$193.80
AEP041	265/65R18	114H	ECO PRO H/T	ARROYO	24	24	\$52.25	\$1,254.00
AEP046	245/70R17	114H	ECO PRO H/T	ARROYO	8	8	\$43.15	\$345.20
AEP049	LT235/85R16	120/116R	ECO PRO H/T	ARROYO	8	8	\$54.95	\$439.60
AEP054	205/60R15	91V	ECO PRO A/S	ARROYO	20	20	\$26.35	\$527.00
AEP055	205/70R14	98H	ECO PRO A/S	ARROYO	12	12	\$26.44	\$317.28
AEP056	215/65R17	99H	ECO PRO A/S	ARROYO	30	30	\$34.88	\$1,046.40
AEP069	255/70R17	112H	ECO PRO H/T	ARROYO	8	8	\$50.86	\$406.88
AGS003	235/50ZR18	101W	GRAND SPORT A/S	ARROYO	24	24	\$34.20	\$820.80
AGS005	225/45ZR18	95W	GRAND SPORT A/S	ARROYO	8	8	\$30.40	\$243.20
AGS006	205/55ZR16	94W	GRAND SPORT A/S	ARROYO	380	380	\$21.93	\$8,333.40
AGS008	215/55ZR17	98W	GRAND SPORT A/S	ARROYO	200	200	\$27.40	\$5,480.00
AGS034	205/50ZR17	93W	GRAND SPORT A/S	ARROYO	17	17	\$28.69	\$487.73
AGS076	195/50R15	82V	GRAND SPORT A/S	ARROYO	12	12	\$22.61	\$271.32
ATAT001	31×10.50R15LT	109S	TAMAROCK A/T	ARROYO	4	4	\$54.82	\$219.28
AEP075	LT275/65R18	123/120_S	ECO PRO H/T	ARROYO	4	4	\$64.43	\$257.72
Container No. FFAU6515583/Seal No. THBP43599 - 927PCS								
AEP015	205/65R16	95V	ECO PRO A/S	ARROYO	20	20	\$28.91	\$578.20
AEP042	LT225/75R16	115/112S	ECO PRO H/T	ARROYO	8	8	\$46.93	\$375.44
AEP043	LT245/75R16	120/116S	ECO PRO H/T	ARROYO	8	8	\$52.92	\$423.36
AGS014	225/40ZR18	92W	GRAND SPORT A/S	ARROYO	80	80	\$27.55	\$2,204.00
AGS024	245/40ZR19	98Y	GRAND SPORT A/S	ARROYO	60	60	\$40.91	\$2,454.60
AGS036	215/40ZR18	89W	GRAND SPORT A/S	ARROYO	12	12	\$28.19	\$338.28
AGS040	225/45ZR19	96W	GRAND SPORT A/S	ARROYO	20	20	\$34.20	\$684.00
AGS042	235/35ZR19	91W	GRAND SPORT A/S	ARROYO	12	12	\$33.25	\$399.00
AGS049	245/40ZR18	97W	GRAND SPORT A/S	ARROYO	100	100	\$33.25	\$3,325.00
AGS064	275/35ZR19	100W	GRAND SPORT A/S	ARROYO	40	40	\$45.60	\$1,824.00
AGS065	275/40ZR19	101Y	GRAND SPORT A/S	ARROYO	30	30	\$48.45	\$1,453.50
AGS072	255/55R20	110H	GRAND SPORT A/S	ARROYO	8	8	\$53.34	\$426.72
AGS088	255/40ZR18	99W	GRAND SPORT A/S	ARROYO	20	20	\$40.99	\$819.80
AGS093	255/45ZR19	104W	GRAND SPORT A/S	ARROYO	4	4	\$45.60	\$182.40
AGS094	255/55ZR19	111W	GRAND SPORT A/S	ARROYO	8	8	\$56.05	\$448.40
AGS095	275/55R19	111V	GRAND SPORT A/S	ARROYO	8	8	\$63.91	\$511.28
AGS100	275/35ZR20	102W	GRAND SPORT A/S	ARROYO	60	60	\$48.74	\$2,924.40
AGS101	315/35ZR20	110W	GRAND SPORT A/S	ARROYO	40	40	\$54.15	\$2,166.00
AUS002	275/55R20	117V	ULTRA SPORT A/S	ARROYO	12	12	\$54.65	\$655.80
AGS126	275/35ZR22	107XL/Y	GRAND SPORT A/S	ARROYO	4	4	\$54.15	\$216.60
AGS127	275/40ZR22	108XL/Y	GRAND SPORT A/S	ARROYO	12	12	\$57.95	\$695.40
AGS130	315/30ZR22	107XL/Y	GRAND SPORT A/S	ARROYO	4	4	\$59.57	\$238.28
AGS110	285/35ZR20	104XL/W	GRAND SPORT A/S	ARROYO	12	12	\$48.33	\$579.96
AGS125	265/35ZR22	102XL/W	GRAND SPORT A/S	ARROYO	4	4	\$46.49	\$185.96

KATANA RACING INC
 DBA. Wholesale Tire Distributor (WTD)
 2875 Pomona Blvd., Pomona CA 91768
 P: 562 340 6252
 F: 562 677 3956

Commercial Invoice
 Invoice Date Invoice No.
 02/10/26 202607536

CONSIGNEE Blue Logistics Services sarl
 Patriarche Meouchy Street Number# 4,
 Kahaleh Bldg# 44, 2nd Floor, Horch Tabet
 Sin El Fil – Lebanon VAT NBR# 3369083-601
 Mobile : +961 3 24 24 12
 E-mail: riad.abdou@bluelogistics-lb.com

SOLD Baitamani Trading Company
 To TABARBOOR, SPORT CITY HIGH WAY,
 BUILDING NO 201, AMMAN, JORDAN
 Email:shadi@baitamani.com
 Number:+971 50 431 4061

PO NUMBER: CC10328

Item#	Size	S/L	Pattern	BRAND	Qty-Ord	Qty-Shp	Price (USD)	Net (USD)
AGS121	295/40ZR21	111XL/Y	GRAND SPORT A/S	ARROYO	12	12	\$65.34	\$784.08
AGS122	315/30ZR21	105XL/Y	GRAND SPORT A/S	ARROYO	4	4	\$58.05	\$232.20
AGS123	315/35ZR21	111XL/Y	GRAND SPORT A/S	ARROYO	4	4	\$62.70	\$250.80
AGS144	315/40ZR21	111Y	GRAND SPORT A/S	ARROYO	4	4	\$64.23	\$256.92
AGS131	315/35ZR22	111XL/Y	GRAND SPORT A/S	ARROYO	4	4	\$61.89	\$247.56
AGS145	245/50ZR19	105XL/W	GRAND SPORT A/S	ARROYO	12	12	\$44.18	\$530.16
AGS146	265/50ZR19	110XL/W	GRAND SPORT A/S	ARROYO	8	8	\$49.83	\$398.64
AR5K04	11R22.5	146/143N	AR5000	ARROYO	20	20	\$131.00	\$2,620.00

Container No. ONEU5860212/Seal No. THBP43598 - 654PCS

Prices shown above are without wrapping.If needed, need to add \$0.50 per tire

Total QTY: 1581
 Subtotal: \$ 55,837.91
 Freight(2x3620): \$ 7,240.00
 Inv Total: \$ 63,077.91

Payment Terms: 75days from B/L date
 Terms of Shipment: CFR
 ETD: LAEM CHABANG,THAILAND - 2/7/2026
 ETA: BEIRUT,LEBANON - 4/1/2026

Bank Information: Please arrange payment to the following account.
 Bank Name: Associated Bank
 Account Name: Katana Racing Inc.
 Account Number: 2920000722
 Bank Swift Code: ABGBUS44
 Routing No: 75900575
 Bank Address: 433 MAIN STREET GREEN BAY, WI 54301



KATANA RACING INC
 DBA. Wholesale Tire Distributor (WTD)
 2875 Pomona Blvd., Pomona CA 91768
 P: 562 340 6252
 F: 562 677 3956

Packing List
 Invoice Date Invoice No.
 02/10/26 202607536

CONSIGNEE Blue Logistics Services sarl
 Patriarche Meouchy Street Number# 4,
 Kahaleh Bldg# 44, 2nd Floor, Horch Tabet
 Sin El Fil – Lebanon VAT NBR# 3369083-601
 Mobile : +961 3 24 24 12
 E-mail: riad.abdou@bluelogistics-lb.com

SOLD Baitamani Trading Company
 To TABARBOOR, SPORT CITY HIGH WAY,
 BUILDING NO 201, AMMAN, JORDAN
 Email:shadi@baitamani.com
 Number:+971 50 431 4061

PO NUMBER: CC10328

Item#	Size	S/L	Pattern	BRAND	Qty-Ord	Qty-Shp	UNIT WEIGHT (KGS)	MEASUREMENT
AEP010	225/60R17	99V	ECO PRO A/S	ARROYO	30	30		
AEP011	175/65R14	82H	ECO PRO A/S	ARROYO	12	12		
AEP013	195/70R14	91H	ECO PRO A/S	ARROYO	10	10		
AEP019	235/55ZR18	104W	ECO PRO H/T	ARROYO	24	24		
AEP020	235/60R18	107V	ECO PRO H/T	ARROYO	60	60		
AEP023	275/65R18	116H	ECO PRO H/T	ARROYO	4	4		
AEP025	235/75R15	109T	ECO PRO H/T	ARROYO	12	12		
AEP034	245/65R17	107H	ECO PRO H/T	ARROYO	12	12		
AEP036	265/70R17	115H	ECO PRO H/T	ARROYO	4	4		
AEP041	265/65R18	114H	ECO PRO H/T	ARROYO	24	24		
AEP046	245/70R17	114H	ECO PRO H/T	ARROYO	8	8		
AEP049	LT235/85R16	120/116R	ECO PRO H/T	ARROYO	8	8	9980.00	60 CBM
AEP054	205/60R15	91V	ECO PRO A/S	ARROYO	20	20		
AEP055	205/70R14	98H	ECO PRO A/S	ARROYO	12	12		
AEP056	215/65R17	99H	ECO PRO A/S	ARROYO	30	30		
AEP069	255/70R17	112H	ECO PRO H/T	ARROYO	8	8		
AGS003	235/50ZR18	101W	GRAND SPORT A/S	ARROYO	24	24		
AGS005	225/45ZR18	95W	GRAND SPORT A/S	ARROYO	8	8		
AGS006	205/55ZR16	94W	GRAND SPORT A/S	ARROYO	380	380		
AGS008	215/55ZR17	98W	GRAND SPORT A/S	ARROYO	200	200		
AGS034	205/50ZR17	93W	GRAND SPORT A/S	ARROYO	17	17		
AGS076	195/50R15	82V	GRAND SPORT A/S	ARROYO	12	12		
ATAT001	31x10.50R15LT	109S	TAMAROCK A/T	ARROYO	4	4		
AEP075	LT275/65R18	123/120_S	ECO PRO H/T	ARROYO	4	4		
Container No. FFAU6515583/Seal No. THBP43599 - 927PCS								
AEP015	205/65R16	95V	ECO PRO A/S	ARROYO	20	20		
AEP042	LT225/75R16	115/112S	ECO PRO H/T	ARROYO	8	8		
AEP043	LT245/75R16	120/116S	ECO PRO H/T	ARROYO	8	8		
AGS014	225/40ZR18	92W	GRAND SPORT A/S	ARROYO	80	80		
AGS024	245/40ZR19	98Y	GRAND SPORT A/S	ARROYO	60	60		
AGS036	215/40ZR18	89W	GRAND SPORT A/S	ARROYO	12	12		
AGS040	225/45ZR19	96W	GRAND SPORT A/S	ARROYO	20	20		
AGS042	235/35ZR19	91W	GRAND SPORT A/S	ARROYO	12	12		
AGS049	245/40ZR18	97W	GRAND SPORT A/S	ARROYO	100	100		
AGS064	275/35ZR19	100W	GRAND SPORT A/S	ARROYO	40	40		
AGS065	275/40ZR19	101Y	GRAND SPORT A/S	ARROYO	30	30		
AGS072	255/55R20	110H	GRAND SPORT A/S	ARROYO	8	8		
AGS088	255/40ZR18	99W	GRAND SPORT A/S	ARROYO	20	20		
AGS093	255/45ZR19	104W	GRAND SPORT A/S	ARROYO	4	4		
AGS094	255/55ZR19	111W	GRAND SPORT A/S	ARROYO	8	8		
AGS095	275/55R19	111V	GRAND SPORT A/S	ARROYO	8	8	9200.00	60 CBM
AGS100	275/35ZR20	102W	GRAND SPORT A/S	ARROYO	60	60		
AGS101	315/35ZR20	110W	GRAND SPORT A/S	ARROYO	40	40		
AUS002	275/55R20	117V	ULTRA SPORT A/S	ARROYO	12	12		
AGS126	275/35ZR22	107XL/Y	GRAND SPORT A/S	ARROYO	4	4		
AGS127	275/40ZR22	108XL/Y	GRAND SPORT A/S	ARROYO	12	12		
AGS130	315/30ZR22	107XL/Y	GRAND SPORT A/S	ARROYO	4	4		
AGS110	285/35ZR20	104XL/W	GRAND SPORT A/S	ARROYO	12	12		
AGS125	265/35ZR22	102XL/W	GRAND SPORT A/S	ARROYO	4	4		
AGS121	295/40ZR21	111XL/Y	GRAND SPORT A/S	ARROYO	12	12		
AGS122	315/30ZR21	105XL/Y	GRAND SPORT A/S	ARROYO	4	4		
AGS123	315/35ZR21	111XL/Y	GRAND SPORT A/S	ARROYO	4	4		
AGS144	315/40ZR21	111Y	GRAND SPORT A/S	ARROYO	4	4		
AGS131	315/35ZR22	111XL/Y	GRAND SPORT A/S	ARROYO	4	4		
AGS145	245/50ZR19	105XL/W	GRAND SPORT A/S	ARROYO	12	12		
AGS146	265/50ZR19	110XL/W	GRAND SPORT A/S	ARROYO	8	8		
AR5K04	11R22.5	146/143N	AR5000	ARROYO	20	20		
Container No. ONEU5860212/Seal No. THBP43598 - 654PCS								

KATANA RACING INC
DBA. Wholesale Tire Distributor (WTD)
2875 Pomona Blvd., Pomona CA 91768
P: 562 340 6252
F: 562 677 3956

Packing List
Invoice Date Invoice No.
02/10/26 202607536

CONSIGNEE Blue Logistics Services sarl
Patriarche Meouchy Street Number# 4,
Kahaleh Bldg# 44, 2nd Floor, Horch Tabet
Sin El Fil – Lebanon VAT NBR# 3369083-601
Mobile : +961 3 24 24 12
E-mail: riad.abdou@bluelogistics-lb.com

SOLD Baitamani Trading Company
To TABARBOOR, SPORT CITY HIGH WAY,
BUILDING NO 201, AMMAN, JORDAN
Email:shadi@baitamani.com
Number:+971 50 431 4061

PO NUMBER: CC10328

TOTAL QTY: 1581

ETD: LAEM CHABANG, THAILAND - 2/7/2026
ETA: BEIRUT, LEBANON - 4/1/2026

